3.4 Concepts and Vocabulary (page 258)

4 less 5. piecewise defined 6. True 7. False 8. False

3.4 Exercises (page 258)
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AN30 ANSWERS 3.

4 Exercises
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40. (a) All real numbers

3.4 Exercises AN31

(b) (x,0)for0 = x -
(c)

= 0}; [0, 00) .
@ (d) Set of even i )
(~x if-1=x=0 @ integers (d) Set of integers
n £x) = ‘L'%.\ o< x=2 (Other answers are possible.) 42 _fxif-1=x=0
: - f(x) = e (Other answets are possible.)
(~x if x =0 Tif 0<x=2
flx) = 27 0 < <2 (Other answers are possible x+2if-1=x=
FUBA l-x+2 if0<x=2 possible.) M. f(x) = {x '.hf l ; :)’ 0 (Other answers are possible.)
! X
50 §39.99 (b) $43.74 (c) $40.24 46, (a) $1.29 (b) $037 © $3.13
50) 3 3¢ :
. ) $50.33 (b) $396.04 . (@) $4178 (b) $166.32
C = {‘]'99755" Rad K0 S% w50 0928x + 645 if 0= x=20
(© & ™ 10.74825x + 21915ifx > 50 (€) C = (08385x + 8241if20<x=50
) 0.7642x + 11.955 if x > 50
(d) ( (d) C
100 (100, 96.74)
r 1 (100, 88.38)
sok (50, 59.33) «
L S0
© L)Aﬁ“l——l—L—L-—,‘-- . d 064 iy X
50 100 50 100
0.10x if 0 < x = 7000

700.00 + 0.15(x — 7000) if 7000 < x = 28,400

3910 + 0.25(x — 28.400) if 28400 < x = 68,800
14,010 + 0.28(x — 68.800) if 68,800 < x = 143,500
34.926 + 0.33(x — 143,500) if 143,500 < x = 311950
90,514.50 + 0.35(x — 311,950} if x > 311,950

0.10x if 0< x= 14000

1400 + 0.15(x — 14,000) if 14,000 < x < 56,800
7820 + 0.25(x — 56,800) it 56,800 < x = 114,650
22282.50 + 0.28(x — 114,650) if 114,650 < x = 174,700
39,096.50 + 0.33(x — 174,700) if 174,700 < x = 311,950
84,389 + 0.35(x — 311,950 ) if x > 311,950
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80. For schedule Y-1: f(x) =

SL. (a) ‘ () C = 50 + 0.4(x — 100)
’ (© C = 170 + 025(x = 400)
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ANSWERS 3.4 Exercises
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§5. (@) 10°C (b) #°C () ~3°C (d) ~4°C (©) The wind chill is equal to the air temperature.  (f) At wind speed greater than
' i . 10°C () —21°C (c) —34°C e
20 m/sec, the wind chill factor depends only on the aif temperature. 56. (a). 'If <hift (.:'u ) k units: if) y 2 _ (:)k _6.(
ach graph is that of y = x7, but shifted vertically. If y = x* % “‘ k ""‘“' the ”I ) I'_' r1 ol e s ! o e 0, ”_1'3 shif ig
k units. 38, Each graph is thatof v = 2 but shifted horizontally. Ify = (x - k)%, k = 0, the shift is _nl.hl k units; if y = {x + kY,
k > 0. the shift is left k units. 59. Each graph is thatol y = | ,but either ct)msﬁl'U\kal or stretehed. If y = H-"' and k > 1, the graph is
- 1. the graph is compressed vertically. 60. The ph of y = —f{x} is the reflection about the

stretched vertically: if y = k{x|,0 < k < . Y .
x-axis of the graph of y = f(x). 61 The graph of v = f{—x) is the reflection about the y-axis of the graph of y = f(x),

62. Yes. The graphof y = (x — 1)* + 2is the graph of y = 7 shifted right 1 unit and up 2 units. 63, They are all U-shaped and open
1 t?uce 2o I.hmugh the points (—1,1). (0,0) and (1, 1). As the exponent increases, the steepness of the curve increases (excep
= 0). 64. They all have the same general shape. All three go through the points (—1, —1).(0, 0),and (1, 1). As the exponent

down

the steepness of the curve increases (except near x = 0).




